= BARRACUDA

ASSEMBLING INSTRUCTION

OIL TANK

WWW._.BARRACUDAMOTO.COM

ﬂWMMmmmmmmmN*
AMMMMMMMMNNW
WmmnmmmmmmW>
V4 74 4 74 N7 N 0 2 L Y Y S ik
{7 v v o DTS =

"""}'

LEGEND

. OIL TANK
VASHETTA OLIO
TANQUE DE ACEITE
OLTANK

RESERVOIR D'HUILE

. ALLEN SCREW M6X14
VITE A BRUGOLA M6X14
TORNILLO ALLEN M6X14
INBUSSCHRAUBE M6X14
VIS ALLEN M6X14

. MOTORCYCLE BRACKET
STAFFA MOTOCICLETTA

SOPORTE DE MOTOCICLETA

MOTORRADHALTERUNG
SUPPORT DE MOTO

. NUT 26
DADO 26
TUERCA @6
MUTTER @6
ECROU @6

4, WASHERS J6
RONDELLA @6
ARANDELAS @6
SCHEIBE U6
RONDELLE @6

VA

RUBBER IN THE MIDDLE

011




